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Calculating the Crown Spring Angle using 
a Steel Framing Square

1) Draw 2 perpendicular lines  
with framing square

2) Measure lengths A & B

3) Crown Spring Angle = arctan (Length A ÷ Length B)
Length A = 3 1/8" = 3.125"
Length B = 4"
Crown Spring Angle = arctan (3.125 ÷ 4) = 37.99873° = 38°

CMC example of converting triangle run & rise 
to degrees
[On/C][On/C]
[3.125"] [÷] [4"] [=] 0.78125
[Conv][Tan] DEG 37.99873°

Place a small scrap of the crown 
molding next to the perpendicluar 
lines.

Run = 4"

Rise = 3 1/8"


